N

T2 RHIETIHR

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
BRERNZENERKEL, DPC 8380 RENFXMEENERRAIEIZES
TREBE—E. SHIRBETEN S LHTIET NFC - EBHERIE App #ITRIT
BVl RS EMABNIEAA R DPC 8380 FA—RERFIUMSI
AEIR .

DPC 8380

SR EERET NFC - EaERIE App (Android)

FZF FERR

. A "

 BETH § BRSTARSEOTRIIEE 335°/343°
s fEEEA ® B, TR ALY

’ KibE 5 NEREIRN

s SRIZHA s WETE THE

RAIE

MERE G Er NERE -25°C... +85°C
NETE 0..0.2%0...100 bar TERE -25°C.... +85°C
0..25%0...1500 psi
Gk
BHES 4..20mA,0..5VDC,1...6 VDC, EHBAER bar, psi, MPa, kPa, m 7k#E, mm 7k#Z, %,
0...10VDC, RI¥/}#f mA 5 V user scale
FrRHt 218 PNP &% BRN 17425 :3518 #iE =
SFALEHE0.1...999.9 5, % (0)
FBE @ +25°C HEYE +0.5% FS #EE
Trafag sensors & controls Industriestrasse 11 Tel. +41449223232 www.trafag.com m
Switzerland 8608 Bubikon Fax +41449223233 trafag@trafag.com

sensors@controls

08/2019

HUETTHT2320i

]
B



iTHfEE/2ESRE

DPC 8380

MEEE Y

feRiaR

Eh#EO

RSO

WLiES

it

8380. XX XX XX XX XX XX

87
89
82
83

SEEl BE 1BRED EE BE 1BBED
[bar] [bar] [bar] [psi] [psi] [psi]
0..0.2 1.2 2 68 0..25 15 30 F8
0..04 1.2 2 69 0..5 15 30 F9
0..06 1.2 2 70 0..75 15 30 GO
0..1 2 4.8 71 0..15 45 70 Gl
0..1.6 3.2 4.8 73 0..20 45 70 G3
0..25 5 1.5 75 0..30 60 90 G5
0.. 8 12 76 0..50 100 150 G6
0..6 12 15 7 0..100 200 250 G7
0..10 20 25 78 0...150 300 375 G8
0..16 32 40 79 0...250 500 625 G9
0..25 50 75 80 0...400 800 1200 HO
0..40 80 100 81 0...500 1000 1250 H1
0..60 120 180 82 0...1000 2000 3000 H2
0...100 200 300 83 0...1500 3000 4500 H3
HAXSE S, 1.4305, F5E: 0.5 % 57  4B33ES7, 1.4305, K52 0.5 %2
HEXTEST, 1.4404/1.4435, §5F: 0.5% 59 HIFEST, 1.4404/1.4435, F6E: 0.5% 24
HAXES, 1.4462, K6 : 0.5% % 52 4ESTESD, 1.4462, ¥5EE: 0.5%3) 4
EXEN, FR5®hEE, BE: 0.5% 53 @XEN, FRSHKEEEE: 0.5%
G1/4"RiBLy 10 7/16"-20UNF SME4L, DIN 38663 %
G1/4"sMES 17 7/16"-20UNF REB4L SAE J512 #1594
G1/2" JMZSr DIN3852-E 4 41 7/16"-20UNF §MBL SAE4 (J1926) ¥
1/4" NPT 4MBL 4 30 G3/4"HifRAE Y ©
R1/4" 4MZ4LL, DIN3858 ¥ 19

stk M12x1, 4 $t, PA MK (i P3, P4)
ffEHESK M12x1, 5 5, PA MK} (it P1, P2)

FFRIEPNP, BIRHIL 4... 20 mA, RIEIHE 0 ... 10 VDC; fdii#1E S0 ‘" &5 P1, P2, P3
FEREHPNP, BBIERI 1 ... 6 VDC; Rithi¥E S0 “Mift" =15 P1,P2,P3

FEREHPNP, BERIH 0... 10 VDC; fithi#{E S0 M =15 P1, P2, P3

FFRUHPNP, BEHH 0... 5 VDC; Hthi*fE S0 Wi &1 P1, P2, P3

FFREHPNP; HHIFE S0 WM &5 P1, P2, P3

SIRIELE 5 £ 1: U+, 2: 4830, 3: U-, 4:SP1,5:SP2

S| HIECE 5 5t;1:U+,2:SP2,3:U-,4:SP1, 5: #&#)
SIRIECE 4 §;1:U+, 2: 4848, 3:U-, 4:SP1

S|HIECE 4 5 1:U+,2:SP2,3:U-,4:SP1
ENIEERRB T ¢ 1.0 mm, #4%£11.4305 7
ENIEERE T ¢ 0.4 mm, #511.4305(f%=2857, 87) 3 1.4404 (2 Rk2% 52, 53, 59, 82, 83,89) 7
24 FPM,-18°C ... +125°C

Z4 EPDM, -40°C ... +125°C

HBFLIEK M12x1,5 5 9

IVESEIREALES PS, T1 (BRERSE)
BREFERHTEHLE (BLERSH)

ThEed 1R BT R/ SRRENNETE

Thae® 2: AP BE X B/ Hin R

fRIPE, 11 F89051, 5 1N F89052 —H2, 25 4 F89075 — &

VEAEHEDEENZENE
3 £ A 40 bar g 500 psi

O Bt

S BFEBSEO 32135
8 RiE T2 Rkas 57 A 87, (VA FEFI5EE < 25 bar 5§ 400 psi
" REBFENED 10, 18, 24, 52

H72320i

T 2/9

18
24
42
52

32
35

PA
PU
PV
PW
PS

P1
P2
P3
P4
40
44
61
63
33
s
zc
71
22

sensors <0 controls



FRAET= i (B2 BT HAPRARAE)

DPC 8380

Ems ESisy LK T] EHER RAEE e fBE @ +25°C #
[bar] [bar] [vDC] BE
[%]
DPC0.2PAP1 838068 5717 350000 0000 PAP144 61 7S 7172 0..0.2 12 15..30 +0.5
DPCO0.4PAP1 838069 5717 350000 0000 PAP144617S 7122 0..04 12 15..30 105
DPC0.6PAP1 8380705717 350000 0000 PAP144 61 7S 7172 0..0.6 12 15..30 +05
DPC1.0PAP1 8380715717 350000 0000 PAP144617S71272 0..1 2 15..30 +0.5
DPC1.6PAP1 838073 5717 350000 0000 PAP144 61 7S 7172 0..16 32 15..30 +0.5
DPC2.5PAP1 8380 755717 350000 0000 PAP144 617571272 0..25 5 15..30 +05
DPC4.0PAP1 8380765717 350000 0000 PAP144 61 7S 7172 0.. 15..30 +05
DPC6.0PAP1 8380775717 350000 0000 PAP144 61 7S 7122 0.. 12 15..30 105
DPC10.0PAP1 838078 5717 350000 0000 PAP144 61 7S 7172 0..10 20 15..30 +0.5
DPC16.0PAP1 8380795717 350000 0000 PAP144617S7172 0..16 32 15..30 +05
DPC25.0PAP1 8380805717 350000 0000 PAP144 61 7S 7172 0..25 50 15..30 +0.5
DPC40.0PAP1 8380815717 350000 0000 PAP144617SZ7122 0..40 80 15..30 105
DPC60.0PAP1 8380825717 350000 0000 PAP144 61 7S 7172 0...60 120 15...30 +05
DPC100.0PAP1 8380835717 350000 0000 PAP144617S7172 0...100 200 15..30 +0.5
H72320i D5 3/9 sensors@controls



DPC 8380

88
B IEgE HEER FERM EPIRE
(zS M) (zC HiF)
Frx 5 SP1 (#HIFET) 75 % MESERH SP1>RP1 SP1
EFFRS FHL (FO%E) FH1>FL1
WEZ1%FS
SIRHE RPL (B FHfitm) 25 % NEEE RP1<SP1 RP1
THx= FLL (BORR) FL1<FH1
Wa = 1%FS
Frx s SP2 (#HIFET) 75 % MESERE SP2>RP2 SP2
EFFXE FH2 (BOER) FH2 > FL2
WEZ1%FS
SR H RP2 (B FHfil) 25 % MESEE RP2 < SP2 RP2
TFX5 FL2 (BOER) FL2 < FH2
Wa = 1%FS
FrxiwERTE SP1 0 0..99.99s ds1
(EFFfte)
FFxiHERTIE FH1
(BOER)
FFxi AT RP1 0 0..99.99s dR1
(H RS
Tk ERTIE FL
(BOER)
FrxiERtE) SP2 0 0..99.99s ds2
(H R
FF xR R FH2
(BOER)
Frx it A E] RP2 0 0..99.99s dR2
(HFFiRS)
Tk ERTIE FL2
(BOER)
ThREFF KA 1 i=h 35 NO (Hno), i#f5 NC (Hnc) oul
EF il (Hno) &0 NO (Fno), O NC (Fne)
ThREFF XAt 2 =h i#J5 NO (Hno), i#/5 NC (Hnc) ou2
EFF il (Hno) & O NO (Fno), @O NC (Fnc)
EHE bar bar, psi, MPa, kPa, m WC uni
MEEEEE 100 % FEES 50.... 100 % AFRES P-EP
PR (i) 0.01s 0.01...3.00 s (Bfa ) dAA
BRAME & %, = (180°) disr
B LEiENE EHE: H5, &S, &I, dis
BRKA
YRiE: HEANE (R% 31D
TTEMR 2 1,2,5,20 Hz duPd
H72320i Tit5 4/9 sensors@controls



DPC 8380

BSHE BHES [ {EBEE 4...20 mA:24 (15...30) VDC
0...5VDC:24 (15...30) VDC
1...6VDC:24 (15...30) VDC
0...10VDC:24 (15...30) VDC

EEIER BA{E 200 ms
RERIEGR, FEERREE @ 25°C, 5 DER 374
fea:| <30mA
fZ8 -3t NERE -25°C ... +85°C
ERE -25°C ... +85°C
it &l IP67
BE A 95 % MY fE
i 10 g(10... 2000 Hz)
& 50g/3ms
EMCEBHER A 125% EN/IEC 61000-6-3
T EN/IEC 61000-6-2
HiEhiE ERkEs (A R) &, AlLO, (96 %)
EAEO (ERAR) 57/87: 1.4305 (AISI303
59/89: 1.4404/1.4435 (AISI316L)
52/82: 1.4462 (AISI318LN)
53/83:F4R 5 sha®
IN= BREET
R B REBTTING
= FPM, EPDM
HEEHEL SITBES
B8 ~189g
REHIE 15...20 Nm
INRIRE SRAIE335°, & A2.5Nm
BRI A% 343°, A5 Nm
) BN EBREE
MEFEE 0.5 %

-30 20 10 0 10 20 30 40 50
Temp.(°C)
max. — —  typ.——

H72320i

60 70 80 90 100

[ TEB(-25...+85°C)

oitg 5/9

sensors@ controls




HHES
fBE

RRRAHES

FE/E (LFHE D)

BREES;Y

B REERESER
SHARNNEER (P_nP)Y
KRENNEEE (P_EP)
EINE R S =B (0_nP) Y

R IRA L RIH%E (0_EP) Y

A 4 ... 20 mA HER[E
BIREW @-25...485°C
1BE @ +25°C

NLH @ +25°C (BSL)
TCERREBMNEREE

1EKBRE

4...20 mA: 25 mA (iB%)

0...10 VDC: <40 mA (}Z)
0.01...3.005/10...90 % EEES
+02%FS

0..50%FS?

50...100 % FS?

EHH: 0... 2VDC

Bt 3.9... 0_EP -8 mA
HEHH: o_nP+4...10.5VDC
BMH: o_nP +8...20.1 mA

DPC 8380

[% FS 88 {E]
[% FS H28YE]
(% FS 85I{E]
[% FS/K $25¢
1&]

[% FS 885! {E]

+20
+0.5
+0.2
+0.03

1 Available with optional function package, see "Accessories"

2P_EP-P_nP=50%FS

BE FEE @ +25°C % FS EaRIfE] £0.5
BIRET @-25...485°C [%FS EaRiE] +£2.0
1FEKERE % FSEaEE] < £03

FxmIEETE 0...100%FS

FFxiH#E >1%FS
Fxm>ERA

FFXEFE <30

It RINAE Hia, BO; BFS (NO), Bt (NC)

FFX AT < 05AB MRS

TR S2ABNFEEH

FFxE BA 200 Hz

S ERTE] 0..99.99s

ki 41 T RS R R AINER 180° B A%

FRAEH L

< 9: 33

10.... 99: 2331l
100 ... 999: 131

FEREER 2LED, I8

1B1E 3 MERHFEEERS|, /S VDMA 24574-1

BROYER 0.1%FS

ETEE -3...103%FS

WESH SHEXRSH

BFBENEBA SR B84:-999 ... 9998

SRNARRETHAFEEXHEY BN 455:-998 ... 9999

U Available with optional function package, see "Accessories"

H72320i

g 6/9

sensors@ controls




R~
@37 RIS
s
o
335° max.2.5Nm =
q ! M12x1
o S W - 343° max.5 Nm
Q\ @43
] U
o
<X
1 |.]
032 SW27/@29.5
48 L
8380.XX.XXXX.35/32.XX.XX
(28.5)
14 145 12,2 14 3115
)
=§ g\ | l L I |
l = —
L_ ><'\ = [N}
12.5 8% ¥ [sea 2 o 0295
20 8= &l DIN3sey 5| § Seal  SW27
gg = DIN3869
8380.XX.XX10.XX.XX.XX 8380.XX.XX17.XX.XX.XX 8380.XX.XX41. XX XX. XX
10 145 7/16"-20UNF SAE J512
[ 1
11/ of | M
S
2 o
2 15
g8x%8 28
82=zE S 8.6
8380.XX.XX19.XX.XX.XX 8380.XX.XX18.XX.XX.XX 8380.XX.XX24.XX. XX.XX
1.5 16
Bore 28
M2:1 -
< G3/4"
Rals | V2 & S S | ©
™ o : L —
) e ez ]
= S s 023
o~
= - 0-Ring / @50
@20x1.5
16 Sealing DIN/ISO 3869 -
23.9x29.2x15 G3/4" BIFRER
J2E= (1.4301)
8380.XX.XX52.XX.XX.XX 115 C27805
H72320i T8 7/9

DPC 8380

151 2 145
I
o
LB
S~ = O~
sl ¥ &|Z
Q= — S

8380.XX.XX30.XX.XX.XX

9 2.3
St —
SR
Egom

S

:\-‘3@?1
oEgg
= w
=S

8380.XX.XX42.XX.XX.XX

54...60

8380.XX.XXXX.XX.XX.33

sensors <0 controls



BSEO
PP R R SER
IP67*)
M12x1
5-1% 4-1%
35 32
2
5 3 7
4
4 1
1
P1 P2 P3 P4
PA v v v
PU v v v
PV v v v
PW v v v
PS v
P1 P2 P3 P4
@ Us + 1 1 1 1
+L1LoUs- 3 3 3 3
U/l +-+1 Outanalogue 2 5 2 -
4+ sp1 4 4 4 4
Out | | | o 5 2 2
L 11 @
“oL hielg **% B B
8380.xx.xxxx.xx.PA/PU/PV/PW/PS
* R PR RAIE RIS AR
*%) BN {55 SRR FI S
4...20mA: min./max resistor vs. supply voltage @ Pmax = 100%
1200 I
O 7
— — - Rmax@85°C /
= 1000 ) , <
£ R min @ 85°C
e
5 800 L
E 7
wv
e
= 600 —
=4 L
3 4
[<F]
2 400
=]
wv
=3
© 200
0
5 10 15 20 25 30

H72320i

Customer Supply Voltage (V)

oG 8/9

DPC 8380

P r—+—US+
I —Us-
@ I SP1,SP2
| RL
ezﬁh US-
AR R

sensors <0 controls



DPC 8380

ThEeFFxith

i &0 HE
P P P
SP FH Sp I
FL ®
P / /
t t t
ON ON ON
Hno Fno I Hno
OFF . _ OFF e | ! . OFF é .

ON : i ON : ; : H ON p—
OFF OFF OFF

X HiET www.trafag.com/H72320
1BIEREAH www.trafag.com/H73320
IMBF www.trafag.com/H70691

H72320i g 9/9 sensors & controls



